1. Circle the correct choice.

1. When kids outgrow the shoes they have, ......... . 3. “The Shoe That Grows” is a shoe that ......... .

A) they end up going barefoot A) doesn’t keep children healthy

B) soil-transmitted parasites die B) causes children to miss school

C) they find innovative and practical ways C) must be sold for 10 dollars

D) a pair of shoes fit their fast-growing feet D) can expand up to five sizes

2. With no shoes, it’s easy for kids to ......... . 4. What is the main idea of the text?

A) have a pair of shoes that fit A) Donating to a kid in need is not a solution to poverty.

B) create innovative products B) Sometimes, the simplest invention can change millions of lives.
C) getinfections and parasites C) Ecuador, Haiti, Ghana and Kenya are the poorest countries.

D) take the next steps to their future D) Creating innovative products doesn’t solve extreme poverty.

2. There are five bold and underlined words in the passage. Match them with their definitions.

3) ceeeeeeeeeeeeeeeeeeee.n...: to try to deal with a problem

b) weeeereeeeieeeeee..... @ SYstem for protecting people’s health by removing dirt and waste

C) +ivveeeeeeeeeeeeeeeennnn..a: to think of a plan, an idea, or a solution to a problem

d) .vrereeieeeeeeeeeeeeenn: Something that is given to a person or an organisation such as a charity, in order to help them



